
 

Multiplication of Decimals!  
1) Set Up: Take away the decimal and set up vertically  
2) Multiply  
3) Decimal Places: Only counting decimal places to the right of the decimal 
4) Answer: Add in the decimal  

 
Questions:  

A. 2 × 3.5 =  
B. 4 × 3.7 =  
C. 10 × 5.8 =  
D. 9 × 7.7 =  
E. 5 × 1.3 =  
F. 9 × 7.4 =  
G. 3 × 4.4 =  
H. 3 × 9.1 =  
I. 10 × 4.9 =  
J. 2 × 8.1 

K.  The Krueger go-kart track is 0.9km long. Suppose you went 
around the track 5 times. How far did you travel? 

L. Kim Kardashian has 6 gifts. She needs 1.4m of ribbon for each 
gift and bought 8m. Will she have enough? Show your work.  


